2023/10/04 Wednesday, October 4, 2023 11:20 AM

2) Collocation method



yerer of

$$K_{0} 2$$

$$R_{i} = (E A U' + q =$$

$$M_{i} = (E A U' + q =$$

$$M_{i} = (E A U' + q =$$

$$M_{i} = (I - (U) - F) \quad general \quad U_{i} = I \quad H_{i} =$$

$$M_{i} = I - (I - F) \quad general \quad U_{i} = I \quad H_{i} =$$

$$M_{i} = I - (I - F) \quad H_{i} = I - F - E A U' \quad | X_{i} = I \quad H_{i} =$$

$$M_{i} = I - (I - U' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

$$M_{i} = I - (I' \quad U_{i} = I - H_{i} =$$

We discretized it for n = 2  

$$U = \phi_{p} + \alpha_{1} \phi_{1} \quad \alpha_{2} \phi_{2}$$

$$I = \cosh e \quad \phi_{p} = 1, \quad d_{1} = \chi, \quad d_{2} = \chi^{2}$$

$$(2) \quad U = 1 + \alpha_{1} \chi + \alpha_{2} \chi^{2} = 1 + [\chi \quad \chi^{2}] \begin{bmatrix} \alpha_{1} \\ \beta_{2} \end{bmatrix} \implies U' = [1 \quad 2 \times] \begin{bmatrix} \alpha_{1} \\ \alpha_{2} \end{bmatrix}, \quad u' = [0 \quad 2] \begin{bmatrix} \alpha_{1} \\ \alpha_{2} \end{bmatrix}$$

$$P = [0 \quad 2] \begin{bmatrix} \alpha_{1} \\ \alpha_{2} \end{bmatrix} + q(\chi) = [0 \quad 2] \begin{bmatrix} \alpha_{1} \\ \alpha_{2} \end{bmatrix} + q(\chi) \qquad \partial \leq \chi \leq 2$$

$$R_{1} = 1 - [1 \quad 2\chi^{2}] \begin{bmatrix} \alpha_{1} \\ \alpha_{2} \end{bmatrix} = 1 - [1 \quad 4] \begin{bmatrix} \alpha_{1} \\ \alpha_{2} \end{bmatrix}$$

$$(\chi = 2)$$

ME517 Page 1



FYI: Collocation method finds application in solving stochastic differential equations.





Collocation method can be cast as a WR method with appropriate weights:

0)

$$\begin{aligned} & (RS \quad (2) \int G (\sum_{q} (z_{q}) + q(u)) dx + G (2) (1 - [1 + 1] [\frac{q}{r_{1}}]) = 0 \\ & f_{lown} \quad (n + 1)n^{i_{1}} \\ & S \quad delta \quad Dirac \quad fundin \\ & S \quad delta \quad Dirac \quad fundin \\ & (3) \int f(x_{1} S(X - X_{0}) dx = f(l_{0})) \\ & (3) \int f(x_{1} S(X - X_{0}) dx = f(l_{0}) \\ & (3) \int f(x_{1} S(X - X_{0}) dx = f(l_{0})) \\ & (3) \int f(x_{1} S(X - X_{0}) dx = f(l_{0}) \\ & (3) \int f(x_{1} S(X - X_{0}) dx = f(l_{0}) \\ & (3) \int f(x_{1} S(X - X_{0}) dx = f(l_{0}) \\ & (3) \int f(x_{1} S(X - X_{0}) dx = f(l_{0}) \\ & (3) \int f(x_{1} S(X - X_{0}) dx = f(l_{0}) \\ & (3) \int f(x_{1} S(X - X_{0}) dx = f(l_{0}) \\ & (3) \int f(x_{1} S(X - X_{0}) dx = f(l_{0}) \\ & (3) \int f(x_{1} S(X - X_{0}) dx = f(l_{0}) \\ & (3) \int f(x_{1} S(X - X_{0}) dx = f(l_{0}) \\ & (3) \int f(x_{1} S(X - X_{0}) dx = f(l_{0}) \\ & (3) \int f(x_{1} S(X - X_{0}) dx = f(l_{0}) \\ & (3) \int f(x_{1} S(X - X_{0}) dx = f(l_{0}) \\ & (3) \int f(x_{1} S(X - X_{0}) dx = f(l_{0}) \\ & (3) \int f(x_{1} S(X - X_{0}) dx = f(l_$$

Re -0 (2, R: (x) dx + (x)(x=2) Rp = 0

$$\int_{0}^{2} \omega R_{i}(x) dx + \omega(x-2) R_{f} = 0$$

$$(x-2) =$$





- Both Collocation and Finite Difference methods directly work with the strong form and boundary conditions.
- Collocation method is a particular class of weighted residual method where the solution is interpolated as u<sup>h</sup> = a<sub>j</sub>φ<sub>j</sub> + φ<sub>p</sub>.
- Finite Difference does not interpolate the solution with trial function. Rather, it uses discrete values of the function on often regular grids to approximate differential operators.
- Differential operators in Finite Difference method are approximate, where as in collocation.

## Collocation method versus Finite Difference



- Both Collocation and Finite Difference methods directly work with the strong form and boundary conditions.
- Collocation method is a particular class of weighted residual method where the solution is interpolated as  $\mathbf{u}^h = a_j \phi_j + \phi_p$ .
- Finite Difference does not interpolate the solution with trial function. Rather, it uses discrete values of the function on often regular grids to approximate differential operators.
- Differential operators in Finite Difference method are approximate, where as in collocation method the solution  $\mathbf{u}^h$  exactly satisfies the strong form at  $\mathbf{x}_i$ .
- As an example, let us assume the differential operator  $L_M$  in  $\mathcal{R}_i$  includes a Laplacian operator  $\Delta u = \frac{\partial^2 u}{\partial x_1^2} + \frac{\partial^2 u}{\partial x_2^2}$ . The finite difference approximation of Laplacian on a uniform grid with size h would be,

$$\Delta u(\mathbf{x}_2) = \frac{1}{h^2} \left( u(\mathbf{x}_1) + u(\mathbf{x}_3) + u(\mathbf{x}_4) + u(\mathbf{x}_5) - 4u(\mathbf{x}_2) \right)$$
(150)

120 / 456 n = 2

## Finite Difference Stencils

Differentiation	Finite difference approximation	Molecules
$\frac{dw}{dx}$	$\frac{w_{i+1}-w_{i-1}}{2\hbar}$	
$\left. \frac{d^2 w}{dx^2} \right _i$	$\frac{w_{i+1}-2w_i+w_{i+1}}{\hbar^2}$	<u>→</u> <u>→</u> <u>→</u> <u>→</u> <u>→</u> <u>→</u> <u>→</u> <u>→</u>
1°w da <sup>3</sup>	$\frac{w_{i+2}-2w_{i+1}+2w_{i-1}-w_{i-2}}{2h^3}$	0-0-0-0
$\left \frac{d^4w}{dx^4}\right ,$	$\frac{w_{i+2} - 4w_{i+1} + 6w_i - 4w_{i-1} + w_{i-2}}{h^4}$	0-0-0-0-0
∇²w	$\frac{-4w_{i,j}+w_{j+1,j}+w_{i,j-1}}{\hbar^2}+w_{i-1,j}+w_{i,j-1}$	
V*wj <sub>id</sub>	$ \begin{split} & [20w_{i,j}-8(w_{i+1,j}+w_{i-1,j})\\ &+w_{i,j-1}+w_{(j-1)}+2(w_{i+1,j+1})\\ &+w_{i-1,j-1}+w_{i-1,j-1}+w_{i+1,j-1})\\ &+w_{i+2,j}+w_{i-2,j}+w_{i,j+2}\\ &+w_{i,j-1}/h^* \end{split} $	0 0 0 0 0 0 0 0 0 0 0 0 0

Source:Bathe's book, section 3.3.5.

Solve







121/456



n = 2

11

Solve our sample problem with FD file 1 q(x)=2-2x  $N = 2 \quad (u_1 = ?, u_2 = ?)$ \_\_\_\_ ۲٫۱ A[-1 Similar to FD method 240° we satisfy Diffeqn (R:=0) い= (=) -1) VI or BC ( Rf=0) at 1001 h 2-1= certain points (FM)  $x_{n=2}$  $R_{f} = 0$ fim (X<sub>1=1</sub> Drichlet X=0 Certain points are BC Xis  $R_{i}(X_{i}=1)$  $R_i = \mathcal{U} + \mathcal{P}(X)$  $R_{f} = 1 - u'$  $x_{1} = I R_{1} = 0 \qquad u_{1}^{\prime} \approx I \times \frac{2 - 2 \times u_{1} + 1 \times u_{0}}{1 n^{2}} , q(x_{1}) = 2 - 2 \times 1 = 0$  $\frac{d^2w}{dx^2}\bigg|_i \qquad \underbrace{w_{i+1} - 2w_i + w_{i-1}}_{h^2}$  $R_{i}(x_{i}) = 0 \implies U_{2} - 2U_{i} + U_{0} = 0$  $= |-2u_1+u_2=-||e_1|$ U. = 1 eq 2 Rf (X2) = 1 - 1 = 0 100-1  $X_{n=2}$  $R_{f}:0$ fim X=0 (X(=1  $1 - \frac{u_2 - u_1}{h} = 0$ Drichlet BC  $R_{i}(X_{i}=1)$ - 42 = -1  $U_1$ I)

- Collocation and FD are similar in "satisfying" the DE and BC at certain points.
- Difference: FD no function discretization of the solution and we only have point values.



rall r

Bar example, n = 2, Comparison of solutions





$$\int_{0}^{2} \int_{0}^{\infty} \int_{0}^{\infty} \left( \left[ \left[ \left[ \left[ 0 \right]^{2} \right] \right]_{0}^{2} + 9(n) \right]_{0}^{2} dx + \int_{0}^{\infty} \int_{0}^{0} \int_{0}^{1} \int_{0}^{0} \int_{0}^{1} \int_{0}^{0} \int_{0}^{1} \int_{0}^{0} \int_{$$

Bar example, n = 2, Comparison of solutions





$$N = 2 \quad (\int_{0}^{2} [x] (z - 7x) dx + [x]) dx = \int_{0}^{2} [x] (z - 7x) dx + [x]) dx = \int_{0}^{2} [x] (z - 7x) dx + [x]) dx = \int_{0}^{2} [x] (z - 7x) dx + [x]) dx = \int_{0}^{2} [x] (z - 7x) dx + [x]) dx = \int_{0}^{2} [x] (z - 7x) dx + [x]) dx = \int_{0}^{2} [x] (z - 7x) dx + [x]) dx = \int_{0}^{2} [x] (z - 7x) dx + [x]) dx = \int_{0}^{2} [x] (z - 7x) dx + [x]) dx = \int_{0}^{2} [x] (z - 7x) dx + [x]) dx = \int_{0}^{2} [x] (z - 7x) dx + [x]) dx = \int_{0}^{2} [x] (z - 7x) dx + [x]) dx = \int_{0}^{2} [x] (z - 7x) dx + [x]) dx = \int_{0}^{2} [x] (z - 7x) dx + [x]) dx = \int_{0}^{2} [x] (z - 7x) dx + [x] (z - 7x) dx = \int_{0}^{2} [x] (z - 7x) dx = \int$$